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to be used in this set of problems.

For Problems 1 and 2, region R is bounded by f (y)=y*-3 and

gly)=3y +1. '

1.- Which of the following ekpressions gives the area of region R?
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3. What s the area of regioﬁ Q?
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7.3 Volumes Calculus

Example 3: The base of a solid is the region in the first quadrant enclosed by the parabola y = 4x?, the linex =1,
and the x —axis. Each plane section of the solid perpendicular to the x — axis is a square. The volume of the solid is
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Example 4: The base of a solid is a region in the first quadrant bounded by the x-axis, the y-axis, and the line
x+2y=8. Ifthe cross sections of the solid perpendicular to the x — axis are semicircles, what is the volume of the

solid?
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Example 5: The base of a solid is the region in the first quadrant enclosed by the graph of y =2—x" and the
coordinate axes. If every cross section of the solid perpendicular to the y-axis is a square, the volume of the solid is

given by
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